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Use rounding strategies to find the sum.

Rather than lining up the place values, one strategy is to
round to the highest place value and solve mentally.

194 + 236 =

In the example above 194 rounds up to 200. That would make
our problem look like:

200 + 236 =

Now we can mentally add and find the
solution.

200 + 236 = 436

But since we added 6 to 194 (to make it 200),
now we have to take 6 away.

436 - 6 = 430

And now we have our sum.

1) 393 + 499 = 892 2) 91 + 309 = 400

3) 695 + 185 = 880 4) 94 + 296 = 390

5) 197 + 212 = 409 6) 198 + 404 = 602

7) 92 + 755 = 847 8) 393 + 550 = 943

9) 395 + 498 = 893 10) 193 + 410 = 603

11) 194 + 193 = 387 12) 494 + 265 = 759

13) 92 + 605 = 697 14) 99 + 119 = 218

15) 598 + 189 = 787 16) 99 + 433 = 532

17) 93 + 122 = 215 18) 291 + 525 = 816

19) 98 + 231 = 329 20) 97 + 172 = 269

Answers

1. 892

2. 400

3. 880

4. 390

5. 409

6. 602

7. 847

8. 943

9. 893

10. 603

11. 387

12. 759

13. 697

14. 218

15. 787

16. 532

17. 215

18. 816

19. 329

20. 269
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